Cross section defined from northing-easting points

Develop a line representative from the survey cross-section points. Assume the points will all be somewhat up or down stream, and the points at the ends of the cross section may be even more “off the line” if line of site needs to be found through trees or obstructions.  So a line from the first to last point is not used.  Instead the average direction is found of all the incremental distances between points, independent of the distance between those points.  The cross section is then a line in this direction from the first cross section point.  
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where θn = direction from each survey point to the next
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where θ = direction of cross section

The distance values on the cross section are the component of the distance between points in the direction of the cross section.
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